PRELIM REVISION
Paper 1
FORMULAE LIST
Circumference of a circle:


C = (d
Area of a circle:



A = (r2

Curved surface area of a cylinder:

C = 2πrh
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Theorem of Pythagoras:
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2.
Samia and her 3 friends paid £24 entry to go skating. If another 3 friends joined 


them, how much would it cost altogether for entry to the skating?

3.
A ‘cash and carry’ has 3 different levels of discount card – Gold, Silver and 


Bronze. Savings can also be made using special promotional vouchers.


The flowchart below can be used to calculate the cost of any article.
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Use the flowchart to calculate how much someone with a gold card plus a special


promotional voucher would pay for an article originally costing £90.

4.
The graph shows the number of visitors to an exhibition over 10 days.











(a)
How many people visited the exhibition on Wednesday?


(b)
Describe the trend in the number of visitors to the exhibition over



the 10 days.

5.
Reece is a salesman and has to be at a meeting in Edinburgh at 10(15am.


He estimates that it will take him 1 hour 55 minutes to travel from his home to


the meeting place.


If he wants to be at the meeting place at least 25 minutes before the start time,


when is the latest time he should leave home to go to his meeting?

6.
The diagram below shows the positions of a mobile phone mast and Julie who is


using her mobile phone.


The scale of the diagram is 1cm to 300m.


(a)
How far is Julie away from the mast?








(b)
Julie moves to another position which is on a bearing of 165o from the mast 



and on a bearing of 200o from her original position.



Complete the scale drawing above to show Julie’s new position.


7.
A DIY store had a ‘10% DAY’ which meant that everything in the store was


reduced by 10%. 



Abdul bought some furniture for his garden which cost


£450 before being reduced.


Calculate how much Abdul would actually pay for his


furniture.

8.
The temperature, in degrees Celsius, at midnight over a period of 10 days at 


Wallend were:




-4      0      -4      2      -1      -6      -5      -4      0      2


(a)
Find the mean temperature.


(b)
What is the mode?

9.
A spreadsheet is used to keep a note of the number of patients seen at various


out-patient clinics in a hospital. This is part of it:

	HOSPITAL CLINIC APPOINTMENTS

	
	A
	B
	C
	D
	E

	1
	
	E.N.T
	ORTHOPTIC
	FRACTURES
	DERMATOLOGY

	2
	Monday
	15
	30
	40
	11

	3
	Tuesday
	17
	20
	50
	13

	4
	Wednesday
	20
	15
	60
	15

	5
	Thursday
	18
	25
	45
	12

	6
	Friday
	15
	20
	25
	14

	7
	Total
	85
	110
	220
	

	8
	Average
	17
	22
	44
	13



(a)
The formula =AVERAGE(C2:C6) was used in this spreadsheet. 



In which cell was this formula used?










(b)
What formula should be entered in cell E7 to find the total number of 



patients seen in the DERMATOLOGY clinic?











(c)
What number would appear in this cell when this is done?
ANSWERS


PRELIM REVISION
Paper 2
FORMULAE LIST
Circumference of a circle:


C = (d
Area of a circle:



A = (r2

Curved surface area of a cylinder:

C = 2πrh



Theorem of Pythagoras:




1. 
The number of text messages sent from Claire’s mobile phone was recorded


over a period of 21 days. The results are shown in the table:

	6
	8
	5
	6
	7
	7
	6

	6
	9
	10
	6
	5
	6
	8

	10
	5
	8
	6
	9
	9
	10



(a)
Complete this frequency table for the above data.

	Number of messages
	Tally marks
	Frequency

	5
	
	

	6
	
	

	7
	
	

	8
	
	

	9
	
	

	10
	
	



(b)
One day is chosen. What is the probability that Claire had sent 7



messages that day?

2.
Siobhan saw these two adverts for the same computer package.



Which shop is offering the best deal?  Give a reason for your answer.

3.
Some workers in a call centre attended a Health screening. The pie chart 


illustrates the information obtained about their smoking habits.



If 320 workers attended the health day, how many of them were smokers who 


wanted to give up?

4.
Mr Bun the baker sells birthday cakes in two shapes.


One is rectangular and measures 20cm by 30cm and the other is circular with 


a radius of 14cm.



Both cakes have the same depth and cost £4.99 each.


Which cake gives the best value for money? 


You must show all your working and give a reason for your answer.

5.
Jenni borrowed £5000 to make some improvements to her home. 

She could pay back £107.29 each month without loan protection or £115.47 each


month with loan protection.


How much extra would she pay over 5 years if she chose to pay the loan back with


loan protection instead of without it?

6.
Scott works in a call centre selling insurance. He gets paid an annual salary of


£11460. He also gets a bonus of £2.70 for every person who takes out a policy. 


(a)
Calculate Scott’s gross pay for the month of July when he sells 52 



policies.


(b)
During this month Scott paid £139 Income Tax, £54.75 National Insurance



and £21.90 in other deductions



Calculate Scott’s net pay for July.

7.
The heights (in centimetres) of a group of children in a nursery were:

57      68      79      87      89      90      92      94       94      97      98      100      101       105    


(a) 
State the median, lower and upper quartiles of the heights.






(b)
Find the interquartile range     






  

8.
A ring valued at £1500 has to be insured with the Jewelrite Insurers.


The premium is £3.50 for each £100 of value.


How much would it cost to insure the ring?

9.
Diagram 1shows a section of a garden fence. 


It has a protective strip along the top.


The dimensions of the fence are shown in Diagram 2.


Calculate the total length of protective strip that would be required for 


this section of fence.


(i.e. the total distance from A to B to C to D).


10.
The path round a country park is 5 miles. Maya and Emily walked round it


at an average speed of 4 miles per hour.


Jonathan and Gregor cycled round it in 40 minutes.


What was the difference in their times?

11.
One day there were 1350 pupils in a school.


1240 pupils were wearing school uniform.


What percentage of the pupils were wearing school uniform? Give you answer 


correct to 1 decimal place.

12.
Blair works a basic 30 hours per week in a Health Club. He is paid £5(70 per


hour for his basic hours and double time for overtime.


One week Blair was paid £330.60. How many hours of overtime did he work?


13.
A perfume bottle is packaged in a cylindrical container.


It has diameter 5cm and height 10cm.






The net of the container is shown in the diagram below.



Calculate the curved surface area of the cylinder.
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Qu�
Give one mark for each ●�
Illustrations for awarding mark�
�
1a











b











c











d





�
ans :    22(19                                          1 mark





(1    answer





ans :    £73.50                                        1 mark





(1    answer





ans:    48                                                1 mark





(1    answer





ans:    1(53                                             1 mark





(1    answer�






(1    22(19 











(1    £73.50   











(1    48  











(1    1(53   �
�
2�
ans :    £42                                           3 marks





(1    realises cost is for 4 people   


(2    finds cost per person   


(3    multiplies to find total   �






(1    £24 ÷ 4   


(2    £6  


(3    £6 � EMBED Equation.3  ��� 7 = £42  �
�
3�
ans :     £66                                          3 marks





(1    takes correct path through flowchart   


(2    finds 25%    


(3    answer   �






(1    discount = 25%  


(2    25% of  £90 = £22.50  


(3    £90 – (£22.50 + £1.50) = £66    �
�
4a











b


�
ans :    1500                                           1 mark





(1    takes appropriate reading from graph





ans :    more visitors at weekend        1 mark





(1    any appropriate comment�






(1    1500 











(1    more visitors over weekends�
�
5�
ans :    7(55am                                     3 marks





(1    finds total travel time   


(2    knows to subtract time   


(3    answer   �






(1    1 hour 55 mins + 25 mins = 2 hrs 20mins   


(2    10(15 – 2 hrs 20 mins   


(3    7(55am   �
�
6a














b


�
ans :    2700 metres                            2 marks





(1    knows to measure line   


(2    finds actual length   





ans :    new position                            3 marks





(1    knows to measure bearings from North   


(2    measures bearings correctly   


(3    required position marked       �






(1    9cm     


(2    9 � EMBED Equation.3  ��� 300 = 2700 metres [or equivalent]











(1    north line drawn at Julie    


(2    lines drawn on bearing 165o and 200o   


(3    lines overlapping and point marked    �
�






Qu�
Give one mark for each ●�
Illustrations for awarding mark�
�
7�
ans :    £405                                         3 marks





(1    finds 10%   


(2    knows to subtract   


(3    answer   �






(1     10% of £450 = £45   


(2    £450 - £45   


(3    £405   �
�
8a

















b





�
ans :    -2oC                                         3 marks





(1    finds total of temperatures   


(2    knows to divide by 10   


(3     answer  





ans:    -4oC                                            1 mark





(1    identifies mode�






(1    -20…….   


(2    ….. ÷ 10   


(3     -2oC 











(1    -4oC    �
�
9a











b











c


�
ans:    cell C8                                        1 mark





(1    identifies correct cell   





ans:    =SUM(E2:E6)                           1 mark





(1    correct formula    





ans:    65                                                1 mark





(1    adds up entries�






(1    cell C8    











(1    =SUM(E2:E6)  











(1    65  �
�
�
�
�
�
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Diagram 1
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COMPUTERS ‘R’ US





£875





VAT INCLUDED





COMPUTERS 4 U





£750





+ 17(5% VAT





Deduct an extra £1.50





STOP











Qu�
Give one mark for each ●�
Illustrations for awarding mark�
�
1a














b








�
ans :    3, 7, 2, 3, 3, 3,                          2 marks





(1    using tally marks   


(2    completing frequency column   





ans:    2/21                                           2 marks


 


(1    correct numerator   


(2    correct denominator   �






(1    evidence in table   


(2    3, 7, 2, 3, 3, 3   











(1    2/………   


(2    …./21   �
�
2








�
ans :    computers ‘R’ us is best deal        3 marks





(1    finds VAT    


(2    adds VAT       


(3    valid conclusion with reason   �






(1    17(5% of £750 = £131.25


(2    £750 + £131.25 = £ £881.25       


(3    Computers ‘R’ Us is lesser amount   �
�
3�
ans :    40                                             3 marks





(1    finds required angle   


(2    knows to find fraction of total   


(3    answer   �






(1    360o – (210 + 75 + 30)o = 45o  


(2    45/360 of 320 (or equivalent)   


(3    40       �
�
4








�
ans :    circular cake/larger area       4 marks





(1    finds area of rectangle    


(2    knows how to find area of circle   


(3    answer   


(4    valid conclusion with reason�






(1    30 � EMBED Equation.3  ��� 20 = 600cm2   


(2    � EMBED Equation.3  ���   


(3    616cm2 (to nearest cm2)   


(4    circular cake/larger area since 616 > 600   �
�
5�
ans :    £490.80                                    3 marks





(1    finds difference in payments    


(2    knows to multiply by 60    


(3    answer    �






(1    £115.47 - £107.29 = £8.18    


(2    £8.18 � EMBED Equation.3  ��� 60 = …..


(3    £490.80        �
�
6a




















b








�
ans :    £1 095.40                                 4 marks





(1    knows to find monthly salary   


(2    answer       


(3    finds bonus   


(4    finds total salary   





ans:    £879.75                                     3 marks





(1    finds total deductions   


(2    knows to subtract deductions 


(3    answer�






(1    £11 460 ÷ 12 = …..


(2    £955       


(3    £2.70 � EMBED Equation.3  ��� 52 = £140.40   


(4    £955 + £140.40 = £ 1095.40    











(1    £139 + £54.75 + £21.90 = £215.65   


(2    £1095.40 - £215.65 


(3    = £879.75      �
�






Qu�
Give one mark for each ●�
Illustrations for awarding mark�
�
7a

















b





�
ans :    93; 87; 98                                3 marks





(1    knows how to find median   


(2    answer      


(3    identifies quartiles   





ans:    11                                                1 mark





(1    subtracts to find interquartile range   �






(1    (92 + 94) ÷ 2   


(2    93   


(3    87; 98  











(1    11    �
�
8�
ans :    £52.50                                      2 marks





(1    knows to multiply premium by 15   


(2    answer   �






(1    15 � EMBED Equation.3  ��� £3.50   


(2    £52.50   �
�
9








�
ans :   9(2m                                          5 marks





(1    identifies rt.triangle knows to use Pyth.   


(2    finds horizontal distance   


(3    finds vertical distance   


(4    calculates BC   


(5    finds total length  �






(1    identifies rt.triangle and evidence of Pyth.   


(2    9 – (2(4 + 3(6) = 3m   


(3    2(4 – 1(4 = 1   


(4    √(32 + 12) = 3(2m   


(5    3(6 + 3(2 + 2(4 = 9(2m   �
�
10











   �
ans :    35 minutes                              4 marks





(1    knows to find time for walking   


(2    answer   


(3    changes hours to hours and minutes   


(4    finds time difference�






(1    time = 5/4   


(2    1(25 hours   


(3    1hour 15 minutes   


(4    35 minutes   �
�
11�
ans :    91(9%                                      4 marks





(1    knows to construct fraction   


(2    knows to multiply by 100%   


(3    answer   


(4    correct rounding�






(1    1240/1350…   


(2    …� EMBED Equation.3  ��� 100%  


(3    91(851851…..   


(4    91(9%   �
�
12�
ans :    14 hours                                  4 marks





(1    finds basic wage   


(2    finds overtime wage   


(3    finds overtime rate   


(4    divides to answer�






(1    £5.70 � EMBED Equation.3  ��� 30 = £171   


(2    £330.60 - £171 = £159.60   


(3    £5.70 � EMBED Equation.3  ��� 2 = £11.40  


(4    £159.60 ÷ 11.40 = 14 hours  �
�
13�
ans :    157cm 2                                    3 marks





(1    uses correct radius   


(2    substitutes in formula    


(3    finds area of rectangle    �






(1    r = 2(5cm (can be in formula) 


(2    CSA = 2 � EMBED Equation.3  ���π � EMBED Equation.3  ���2(5 � EMBED Equation.3  ��� 10    


(3    157 cm2    �
�
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